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of the students of NCWEB at the time of posting
of awards for compilation of result.
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How are propositions classified on the basis of
quantity and quality ? Discuss.

Or ‘

What is meant by distribution of terms ? Explain
with examples. '



(b) Reduce the following propositions into their logical
form :

(i) Only mathematicians are good logicians.
(ii) Not all players are honest.
(iii) A few journalists are prosperous.
(iv) All except teachers are retired.

(v) Learned men are never fools.

Or

If ‘some students are brave’ is tI’IlC, what can
be inferred about the truth a falsity of the
following :

(i) No non-brave persons are students.

(ii) Some brave persons are not students.
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Test the validity / invalidity of the following :
(i) AEE-I
(1)) AAA-TI

Or

Prove that the minor premise must be affirmative
in the third figure of the syllogism.



(b) Write a short note-on any onte of the following :

(i) Traditional square of opposition of
proposition

(11) Existential Imiaort
\ 5
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3. (2) Determine the validity / invalidity of any two of
the following by reductio ad absurdum method.
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(b) Define ‘p.q’ interms of ‘~’ and ‘V’. .
. . 2
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4. Use truth table method to determine the logical status of

“any two of the following statement forms :

G [PV@QVDIV-~[(p~q)V(pr)]
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._5. {a} Symbolise the following propositions into the.
logical notations of propositional functions and

quantifiers (any two) :
(i) Some students are intelligent.
(ii) A little knowledge is harmful.
(iii) All paintings are not attractive.

(iv) No birds are meat eaters. .

4

(b) Define each of the following into stroke function :
@ 29 .r
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Construct a formal proof of validity for any two of the
following arguments :
(i) ADB

BoC

CoD

~D

AVE| - E



(i) AV (BVC)
(BoD).(CDE)
(DVE) 2 (AVC)
~Al .~ C

(i) (P.Q)> [P> (R.S)]
~ (PQ).T]..RVS

5x2
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i) ADB
BoC
CoD
~D
AVE| ~ E
(i) AV (BVC)

" (BDD).(COE)
(DVE) D (AVC)
~AlsC '

(iif) (P.Q) > [P> (R.S)]
(PQ).T| - RVS
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7. (a) Write short notes on any two of the following :

b3

(1) Fallacy of equivocation (with example)
(i1) Complex Question (with example)

(iii) Argument from Ignorance (with eiample)
5,5

~ (b) . Identify and explain the fallacy committed in the

following example :

Everything in the universe serves a function
which goes 'beyond itsetf. So the universe
“itself must serve a function which goes beyond
 itself.
A o 5
(a1) freifefiam el 2 w i oot R -
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(ii) B I (SrE Wiga)

(iii) AT B1Y (ISTE W)
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